Задача по геометрии
                            А	<BAC  = 20°
                                                                                             < ABC = <ACB = (180 – 20)/2 = 80°
                                                                                              BC = DC
                                                                                              <DBC = <BDC = (180 – 80)/2 = 50°
	<ABC = 80°
	<ABD = 80 – 50 = 30°
	B  Δ ABD: 
	<ABD >    <BAD (30 > 20)
                                                      D	AD  > BD > BC
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